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b. 
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c. 
3 2 74 ( 3)x x dx  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3. [7 marks] Find the area of the region bounded by the functions 
2( ) 1f x x   and      
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4. [5 marks] Find the average value of 
cos(2 )( ) sin(2 )tf t e t  over  [0,  2]   

 

 

 

 

 

 

 

 

 

 

 

5. [7 marks] Use the limit definition (Riemann Sums) of the definite integral to evaluate 
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6. [7 marks] The supply function for a certain product is  
2

120

500

x
p

x



 where p is the unit 

wholesale price in dollars and x stands for the quantity that will be made available in the 

market by the supplier, measured in units of hundreds. Determine the producers’ surplus if the 

wholesale market price is set at $24/unit. 
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8. [5 marks] Find  
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9. [7 marks] Evaluate the improper integral 
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10. [7 marks] Solve the separable differential equation.    (Do not isolate y)  

                  
2sec ( )

' 2ln
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11. [5 marks] Use the Simpson’s rule with 4n   to approximate the values of the following definite 

integral. Round your answer to three decimal places. 
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12. [5 marks] Find the third Taylor polynomial of the function  ( ) ln(2 1)f x x  at 0x  . 

 

  

 

 

 

 

 

 

 

 

 

13. [4 marks] Find the limit of the sequence to check its convergence or divergence. 
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14. [6 marks] Find the sum of the convergent series 

1

1

1

5 2
 

7

n

n

n










  

 

 

 

 

 

 

 

 

 

 

 

 

 






